
PARTS LIST

DESCRIPTIONPART NUMBERQTYITEM

NH T8 Side Plate LH 201340-1404L11

NH T8 Undertruss 201140-120312

NH T8 Side Plate RH 201340-1404R13

Extended Dual Tube 12-201220-102924

Saddle Conv. 20-180025

300 Saddle20-101126

400 Saddle20-101327

1

1

2

2

A A

B B

Side Mount Duals

New Holland

T8.275, T8.300, T8.320, T8.330

T8.50, T8.360, T8.380, T8.390

T8.410, T8.435

Bolt List

QTY Description

Placement

14 20 mm x 60 mm Bolts Side Plate to Tractor

14 20 mm Harden Flatwashers

16

3/4 x 2 1/2 Bolts

Side Plates to Undertruss

12 1 x 3 Bolts

Side plate to Tube

28

1 x 2 1/2 Bolts
Side plates to Tube

4

3/4 x 7 x 9 U Bolts

Conv to Tube

12

3/4 x 2 1/2 Bolts

Saddle to Conv

40 1 in Lock Washers

40 1 in Nuts

36

3/4 in Lock Washers

36

3/4 in Nuts

4

Nylon Straps

Tank to Saddle

Front

1

2

3

4

5

6 or 7

Price List
300 gal w/Tanks $9,208.00
400 gal w/Tanks $9,906.00

Limitations may apply.  Please consult 
API Sales at 800-288-1117.

300 ID: NHB-T8-1124-SMD-300R
400 ID: NHB-T8-1124-SMD-400R




